
JEŹDZIK / RIDE ON 

KID

instRukCJa 
oBsŁuGi

OPERATIONAL
MANUAL

2 x 1,5 V AA 

3+
LAT / YEARS



E

A

F

B
C

D

H

1

2

3

4

5

LISTA ELEMENTÓW  W  OPAKOWANIU
LIST OF THE PACKAGING COMPONENTS

G

I



E

A

F

B
C

D

H

1

2

3

4

5

LISTA ELEMENTÓW  W  OPAKOWANIU
LIST OF THE PACKAGING COMPONENTS

G

I

11
10

8

2

1

5
9

6

4

3

13

12
6

9.

12

13

1

4 3

7

8

2

5
1110

6.



WAŻNE! PRZECZYTAJ I ZACHOWAJ
DO PÓŹNIEJSZEGO STOSOWANIA! 

Lista elementów  w  opakowaniu
Proszę sprawdzić, czy akcesoria są kompletne

	 karoseria 

	 przednie koła 

	 kierownica

	 oparcie 

	 podłokietnik 

	 pchacz 

	 podnóżek 

	 nakrętka M5 

	 śruba M5 

INSTRUKCJA MONTAŻU
OSTRZEŻENIE! MONTAŻ MOŻE BYĆ DOKONYWANY WYŁĄCZNIE PRZEZ OSOBY DOROSŁE!

	 Zainstalować koła przednie, jak pokazano na przedniej części samochodu. 

	 Wsuń kierownice na sztycę i w miejsce otworów dokręć bezpiecznie  
dołączoną  śrubę z nakrętką. 

	 Włóż oparcie w otwór karoserii , a podłokietniki w oparcie i  kierownicę,  
tak aby zaskoczyły przyciski blokujące.

	 Obróć samochód nadwoziem w górę, jak na zdjęciu, wciśnij podnóżek  
zatrzaskując czterema klamrami. 

	 Włóż pchać w górną część oparcia. 

	 Naklej naklejki według rysunku.  

 OSTRZEŻENIA!
1)	 W trakcie korzystania zachowaj ostrożność, ponieważ korzystanie z zabawki 	

wymaga umiejętności orientacji przestrzennej i sterowania , których brak grozi 
upadkiem lub zderzeniem, które mogą skutkować obrażeniami u użytkownika lub 
osób trzecich!

2)	 Przed użyciem upewnić się, że produkt  został poprawnie złożony, chroń wszystkie 
części przed dziećmi.

3)	 Zawsze użytkować auto w butach
4)	 Zabawka nie nadaje się do użytku na drogach publicznych, trasach, pochyłościach, 

basenach i innych niebezpiecznych miejscach!
5)	 Nie nadaje się dla dzieci poniżej 36 miesięcy - zawiera małe elementy, które mogą 

zostać połknięte. Niebezpieczeństwo uduszenia.
6)	 Rodzicu, Opiekunie poinformuj dziecko, w jaki sposób używać zabawki i nigdy nie 

pozostawiaj dziecka bez opieki

PL



7) Nie używać produktu w przypadku stwierdzenia jakichkolwiek uszkodzeń.
8) Opakowanie nie jest zabawką.
9) Zabawka nie posiada hamulca.

10) Maksymalne obciążenie 30 kg! 
11) Zabawka przeznaczona do użytkowania przez jedną osobę w tym samym czasie.

BEZPIECZNE KORZYSTANIE Z BATERII

W PRODUKCIE POWINNY BYĆ ZAINSTALOWANE  BATERIE (NIE SĄ 
DOŁĄCZONE DO ZESTAWU) „AA”  1,5V. NALEŻY ZWRÓCIĆ UWAGĘ 
NA NASTĘPUJĄCE KWESTIE :
1) Baterie powinny być wymieniane przez osoby dorosłe.
2) Baterie nienadające się do ponownego naładowania nie mogą być doładowywane.
3) Kiedy moc baterii jest niska dźwięki mogą być zniekształcone, wtedy należy 

wymienić baterie na nowe.
4) Baterie nadające się do doładowania można doładowywać wyłącznie pod nadzorem 

osoby dorosłej i  przed doładowaniem należy wyjąć  je z zabawki.
5) Nie należy mieszać ze sobą baterii różnego typu, ani baterii nowych z używanymi.
6) Zaleca się używanie wyłącznie baterii tego samego typu.
7) Baterie należy zakładać zgodnie z odpowiednią biegunowością.
8) Zużyte baterie należy usunąć z zabawki, lub jeżeli jest ona nieużywana przez dłuższy 

czas, aby uniknąć korozji wycieku.
9) Nie zwieraj styków przedziałów ani zacisków baterii. Nie wrzucać do ognia i 

podgrzewać

2 x 1,5 V AA 

PRZYCISK KLAKSONU

POKRYWA
BATERII

KIEROWNICA

PRZYCISK MUZYKA



IMPORTANT! READ CAREFULLY 
PLEASE KEEP FOR FUTURE REFERENCE! 

LIST OF THE PACKAGING COMPONENTS
Please check if the accessories are complete

	 car body  

	 front wheels  

	 steering wheel 

	 backrest  

	 armrest 

	 push handle 

	 footsteps 

	 M5 nut 

	 M5 bolt 

ASSEMBLY INSTRUCTION
WARNING! THE PRODUCT SHOULD BE ASSEMBLED BY ADULTS ONLY.

	 Install the front wheels assembly as shown, at the front of the car. 

	
Slide over the steering wheel and bolt in place with the included nut and bolt, 
tightening securely.

	 Snap the armrest as shown on the picture together with the backrest, then snap  
the front side of the armrest to the steering wheel, observe that the locking buttons  
go all the way in.

	 Shown as the picture, firstly make the bottom of the car body upward, then align 
the four buckles of the footsteps with the related positions of the bottom of car body.

	
Insert the push handle into the backrest. 

	 Sticker location drawing

  WARNING!
1)	 The toy shall be used with caution. Since it requires great skill, so as to avoid falls  

or collisions causing injury to the user and third parties.
2)	 Never leave your child unattended.
3)	 lt is prohibited to drive in the public streets, roads, slopes, beside the swimming pool 

and other dangerous places,
4)	 The car is only for one child to ride, the maximum load is 30 kg, please do not overload.
5)	 Always wear shoes when using the toy.
6)	 Note that some of the parts will be damaged due to the improper driving,
7)	 To avoid the danger of suffocation, do not let the baby and child to access to the 

plastic bags of this product, and destroy the plastic bags immediately after unpacking.
8)	 Please keep this product manual, which contains important data.
9)	 Not suitable for children under 36 months. Small parts. Choking hazard.

10)	 This toy has no brake.

EN

2 x 1,5 V AA 



FOR SAFE BATTERY USE

THERE WILL BE DANGERS LIKE DAMAGE, HEAT RISE, LEAKED LIQUID 
WHEN REPLACING THE BATTERY (BATTERIES NOT INCLUDED IN THE 
TOY), PLEASE PAY ATTENTION TO THE FOLLOWING MATTERS:

1) This product should be installed with 1,5 V “AA” batteries.
2) lt must be the adults to replace the battery.
3) Please install the battery rightly, taking care of the positive and negative poles of it.
4) lt is forbidden to break the battery up, charge it, heat it, throw it into the fi re, in order 

to avoid short circuit.
5) Non-rechargeable battery cannot be charged, rechargeable battery can only be 

charged under the supervision of adults, and must be taken out of the toy before 
being charged.

6) Please do not mix the old battery that has already been used and the new battery 
together, if mixed together, it will not only aff ect the life of the battery, but also the 
old battery will have the dangers like leaked liquid, damage, so the replacement 
should all be done at once.

7) When the power of the battery is low, the sound becomes smaller, the music goes 
behind the beat, then it should be replaced with a new battery.

8) lf not used for a long time, please take out the battery to avoid leakage corrosion, it 
should be taken out from the toy when the battery is out of power.

9) The source of the electricity should not be short circuit.

2 x 1,5 V AA 

HORN BUTTON

BATTERY
COVER

STEERING SHEEL

MUSIC BUTTON



PM INVESTMENT GROUP 
SP. Z O.O. SP. K. 

Łukówiec 98
05-480 Karczew 
Poland

00 48 (22) 394 09 94
info@pminvestment.pl
www.pminvestment.pl

www.pminvestment.pl


